Math 9
3.6: Order of Operations with Rational Numbers

As always, we use BEDMAS:

| BEDMAS: |  |
| :--- | :--- |
|  |  |
| B | E |
| $c$ | $x$ |
| $a$ | $p$ |
| $c$ | 0 |
| $n$ | $n$ |
| $e$ | $e$ |
| 1 | $n$ |
| $s$ | + |
|  | $s$ |


At the
same
time
A S S
$d \quad U$
$d . \quad b$.
$+\quad-$

Example 1: Order of Operations with Decimals

$$
\begin{aligned}
& \text { a) }(-0.8)+(1.2) /(-0.3) \times 1.5 \\
& =(-0.8)-4 \times 1.5 \\
& =(-0.8)-6 \\
& =(-0.8)+(-6) \\
& 3^{2} \neq 3 \times 2=6= \\
& 3^{2}=3.3=9 \ddot{0} \\
& \text { Example 2: Order of Operations with Fractions }
\end{aligned}
$$

$$
\begin{array}{ll}
\text { a) } \begin{array}{l}
\left(\frac{3}{4}\right)^{2} \div \frac{1}{2}+\frac{3}{8}= \\
L_{2}\left(\frac{3}{4}\right)^{2}=\frac{3}{4} \times \frac{3}{4}=\frac{3 \times 3}{4 \times 4}=\frac{9}{16} \\
=\frac{9}{16} \div \frac{1}{2}+\frac{3}{8} \\
=\frac{9}{16} \times \frac{2}{1}+\frac{3}{8}
\end{array} \quad \begin{cases}\frac{9 \times 2}{16 \times 1}+\frac{3}{8} \\
= & \frac{18}{16 \div 2}+\frac{3}{8}\end{cases} \\
=\frac{9}{8}+\frac{3}{8} & =\frac{9+3}{8} \\
=\frac{3}{8}
\end{array}
$$

$$
\begin{aligned}
& \text { Math } 9 \\
& \text { b) }\left(\frac{-1}{2}\right)\left(\frac{-1}{2}\right)-\left(\frac{-2}{3}\right) \div\left[\frac{1}{3}+\left(\frac{-3}{12}\right)\right]^{2}=\frac{1}{12} \\
& \underset{\substack{\text { not } \\
\text { Common }}}{ } \\
& =\left(\frac{-1}{2}\right)\left(\frac{-1}{2}\right)-\left(\frac{-2}{3}\right) \div\left(\frac{1}{12}\right)^{2} \rightarrow\left(\frac{1}{12}\right)^{2}=\left(\frac{1}{12}\right)\left(\frac{1}{12}\right)=\frac{1}{144} \\
& =\left(\frac{-1}{2}\right)\left(\frac{-1}{2}\right)-\left(\frac{-2}{3}\right) \div \frac{1}{144} \\
& =\left(\frac{1}{4}\right)-\left(\frac{-2}{3}\right) \div \frac{1}{144} \\
& =\left(\frac{1}{4}\right)-\left(\frac{-2}{3}\right) \times \frac{144}{1} \\
& =\left(\frac{1}{4}\right)-\frac{(-2) \cdot 144}{3 \cdot 1} \\
& =\frac{1^{33}}{4^{3}}-\left(\frac{-288}{3 \times 4}\right)^{4} \underbrace{\substack{\text { common } \\
\text { denaminatios }}}_{i s 12} \\
& \begin{array}{l}
\frac{3}{12}-\frac{(-1152)}{12} \\
=\frac{3-(-1152)}{12} \\
=\frac{3+1152}{12} \\
=\frac{1155}{12}
\end{array}
\end{aligned}
$$

